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General Instructions:

1. All questions are compulsory.

2. The question paper consists of 31 questions divided into four sections A, B, C and
D. Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks-each and
Section-D comprises of 11 questions of 4 marks each.

3. There is no overall choice in this question paper.

4. Use of calculator is not permitted.
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Question numbers 1 to 4 carry one mark each

1 UF A wersl ufvEm G F 2100 knv S F1 wia A Ssat ¥ 36 999 U 34 AR wee sEl 1
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O An aeroplane leaves an airport and flies due west at a speed of 2100 km/h. At the same time,
another aerpolane leaves the same place at airport and flies due south at a speed of
2000km/h. How far apart will be the two planes after 1 hour?

2 sec 15° — cosec 75° &1 HF A ST | 1

Find the value of sec 15° — cosec 75°.

ik uﬁma=%%,ﬁsm(%°—a)mmmﬁml %
1
If tan@ = —, find the value of sin (90° — 8).
5 in ( )
©) Ifg fodt siea & v f9€ 10, 20, 30,40, .......... £, Al vea 3R uied ol Siave 9@ Sifew 1
If class marks of a distribution are 10, 20, 30, 40, .......... find first and fifth class intervals.

1 3O / SECTION-B
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Question numbers 5 to 10 carry two marks each.

e - TufsY ¢ o- @Bl Ux- o®ax Afi6m + 1, 6m + 3 a1 6m + 5% &Y &1 Ol &, Fafd m I 2
i U egec
Show that any positive odd integer can be written in the form :

6m + 1, 6m + 3 or 6m + 5, where m is a positive integer.

6 TAT G- A AU wB/180 advam A - nAdiBa " O wa Ot ¥ 1 7w W 28y Agian 2
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Find two numbers which on multiplication with /180 gives a rational number. Are these
numbers rational or irrational ?

7 f U - axe tix - mal) e dh° N 2
x+2y=8
x—3y=13 '
Solve the following pair of linear equations :
x+2y=8
x—3y=13

qa;amaABCDﬁﬁgEgmABanmﬁg%mAh%ABmﬁAB:smﬁa, AD=3 >

i A, A AE &1 4 J1d St |

In a rectangle ABCD, E is a point on AB such that AE=§AB- If AB=6 km, AD=3 km, then
find AE.

9 A ST : 2

/
tan—zso—i{tanZO"tanm"tanW] ¢ 7
cot62° 3 N
4
N &\
S:mphfy: g‘:r\ ;
J
tan28° 1 gr
—— + — f{tan 20°. tan 60°. tan 70° iy
\fgg Cot62°- Jg[ ] /G_, (\
S a‘r\’)

\?o °.n ¥4BR © dGe vefl -AIDER, ¥(R wexd ke -wh°, AGE sgaw =505 3R 2
1 = 45.5 e gan R '

Find the mean of the data using an empirical formula, when it is given that mode=>50.5 and

Page 3 of 11



median=45.5

' $CLA / SECTIONC
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Question numbers 11 to 20 carry three marks each.

) T ¢ugmeCel U oAl w&yibm, 5m+141 5m—1, % &Y & 8 ¢, Fafd m - fifgas 3
gl

Show that square of any positive integer is of the form 5m, 5m +1 or 5m—1, for some integer
m.

12 §EUE3x —Sx +4x +10x—2 F TEIR X — 2x W W FIAY| TR a1 99 Fd HifoQ aon fawee 3
Unaplix - "Gl - RA°D

3
- Divide the polynomial 3x‘—513+4x2+10x—2 by the polynomial x —2x and verify the division
algorithm.

(1) TR +x —2x—6F T A% 2 &1 TG0 & W9 Y2F 9@ HAC 3

If one zero of a polynomial 2 + M2 —2x—{6 is 2, then find all the zeroes.

14 x Ay & fag 7o wifa 3
3x+5y=12
3x—5y+18=0
Solve for xand y :
3x+5y=12

3x—5y+18=0
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(15)  AABCH, AD G4 - xalD i | @AM L BC : firg FRTT AB+ AC=2AD* + %E.c2 3

If in AABC, AD is median and AM L BC, then prove that AB>+ AC?=2AD” + %BCZ

16 AABC ~ AFEG | afg CD @91 GH #99: ~/ACB 91 Z/EGF & gufgwsi® sq R e f&s DawH 3
FUY: AB 391 FE W 2 | fag Hifag '
() AADC ~ AFHG
(i)  ACBD ~ AGEH

AABC ~ AFEG. If CD and GH are respectively the bisectors of ZACB and ZEGF such that D
and H lie on AB and FE respectively. Then prove that

()  AADC~AFHG

(i) ACBD~AGEH

(1) g6 e ¥ e, firg T 3
(i) sin20 +cos20 =1
(i) 1+ cot? § =cosec? 6
For any acute angle 6, prove that :
(i) sin20 +cos20=1

(ii) 14 cot? 6 =cosec? 0

18 A HifaC : 3
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3 tan 25°. tan 40°. tan 50°. tan 65° — % tan? 60°

4(0052 29° + cos? 61°)
Evaluate :

3 tan 25°. tan 40°. tan 50°. tan 65° — % tan? 60°

4((:052 29° + cos> 61“)

19 f1 UCHMBEA) 208 QDMK (x 7o v) 1 Fifee, wafs fean & fF @7 @1 s 240 & qen 3
it IRERAE %14 100 2

il 050 | 50- ] 100- [ 150- | 200- | 250- | 300- | 350- | 400
100 |150 [200 {250 |300 {350 |400 |50

FRERA 2 5 10 |«x 15 |20 [15 |y 4

Find the missing frequencies (x and y) in the following frequency distribution, when it is
given that median is 240 and sum of all frequencies is 100.

Class 0-50 | 50- | 100- | 150- | 200- | 250- | 300- | 350- | 400-
100 | 150 | 200 |250 |300 |350 |400 |450

Frequency | 2 2 10 x 15 20 15 y 4

20 Wﬁéaﬁwﬁﬁaﬁa’mﬁm‘iﬁm&nmﬁmwwmwwmmaﬁﬁ03
ARARAT €2 g eI T

e (mm #) 110- | 115 |120- |125- |130- {135 | 140-
115 120 125 130 135 140 145

gaaisid @& |2 6 10 13 6 3 2
I AFS Y, °- n@AS ] - o SAED wd bt & °D

— The lengths of leaves of a plant are measured correct to the nearest mm and the data obtained
ﬁ\\a '-3 is represented as the following frequency distribution :

Length(inmm) | 110- | 115 |120- |125- |130- |135 | 140-
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22

, 4@
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115 120 125 130 135 140 145

No of leaves 2 6 10 13 6 3 2

Draw a ‘more than type’ ogive for the above data.

1 $CUZ / SECTION-D

Y E a1 219 31 xONOBa- 8w 3T R
Question numbers 21 to 31 carry four marks each. ’

qg wet @ 9t @ A1 9@ Sifee, formd 31 399 & v 3 W duha HH9: 5 3B R 4

Find the largest number that divides 31 and 99 leaving remainder 5 and 8 respectively.

feeelt #1 W@R A 37 Warl #1 geFa & fau we@a i sEied fFar fos = it g s 4
gieT ¥ W& M A1 T BT 6x°— 1122 + 15x — 24 g Waf¥ha foman wan @1 7w ot gefen @ wwifaa
aOeAd R xad MA 2 30#eh § i END- AdBdl) s x — 7 Tfn firclt | dedt & g 7x+ 11 T s
»§0 AUsxATHINE Uioe niide B¥ dodlb A Ue 4D 6¢° O\ - b wt iy D¢ WD
3 qiEr @ § 23 - ag\°, AU v bt by 855 56 oANEE S

@ xE=EIg Clec Wk

Government of Delhi allotted Relief Fund to help the families whose houses and shops were

burned in a fire accident. The fund is represented by 6x>—11x>+15x—24. The fund is
equally divided between each of the families of that accident. Each family receives an amount
of 3x—7. . After distribution, 7x+ 11 amount is left. The District Magistrate decided to use this
amount to develop the infrastructure of the area. Find the number of families which received
relief fund from Government.

What value has been depicted here ?
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23 TR A +5x3—6x2—32x+32 & QA IH 1 7 —4 1 78S Wt YIS Fid Hifog 4

Obtain all other zeroes of the polynomial x4+ 5x3 — 6 x2—32x + 32, if two of its zeroes are 1 and
—4.

24 s = F s A 1aﬁamﬁwgﬁm%|nﬁmmﬁ3@gﬁqaﬁmﬁﬁﬁa §
wﬁqwﬁﬁ%%ﬂaﬁi%:fmmﬁﬁw

A fraction becomes g— if 1 is added to the numerator. If 3 is added to the numerator and 2 is

subtracted from the denominator, then it becomes % . Find the fraction.

QS) ax- EAABC 1§ C 4% fEdil P 3iRQ, ACABC &I 2:3 ¥ 31U H fawifsm @ &1 fag wifvy ¢

(i) 795 BP2=9 AC2 + 25 BC2
i)  25AQ%=25AC?+9BC?
(i) 25 (AQ?+BP?) =34 AB?

AABC is right angled at C. P and Q divide AC and BCin 2: 3. Prove that

&

N
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B Q C
(i)  25BP2=9 AC2+25B(C?
i) 25AQ%=25AC?%+9BC2

(iii) 25(AQ?+BP%)=34 AB?

@ angfa d T 7Y AABC &t 41 BC &1 wea-faig P @ aan AP &1 wea-fag Q @1 afg BQ sgd w4
Acaﬁkwﬁaa%%,‘cﬁmaﬂﬁlqﬁm:%c.«%l

A

B ¢ C
In the figure of AABC, P is the middle point of BC and Q is middle point of AP. If extended
BQmeetsACinR,thenpmvethatRA=§CA.

A

B P C

27 ﬁlﬁkiéﬁé@-@h-@?ﬂ | 4

secA__cosecA

{1 + cotA + tanA). (sinA — cosA) = 5 >
cosec“A sec“A

Prove that following indentity :
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(1 + cotA + tanA). (sinA — cosA) = sec“; _ COS';CA
cosec”A sec A

28 A

B C

AABC X @@ °) £C=90°, AB=x3HTE ARAC=33FE & & BT :

x. cosB. tanA + x2 sinA. secB + sinC

A

B J(/j s
In AABC (see figure) £C=90° AB =x units and AC =3 units
Evaluate :

x.cosB. tanA + xZ sinA. secB + sinC

29 ﬂﬁcosecﬂ:x+£—%,?ﬁmmqﬁcosecﬂ—cot8=Zx?TIEL%I
X b 3

If cosec = x + i, then prove that cosecf —cotd = 2xor 1 :
4x 2x

30 UCHMBON - w145 § 1 9 THARA x Gy A BT |
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